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lerror: vertical dimensions mismatch (1x13 vs 1x1)

lerrar: called from:

ferror:  C:\Octave)Octave3, 6,4_qccd. 6. 2\share\octave\packages\signal-1.2. 1\zp2s0s.m at Tine 84, colum 25
TIR\eziiriz.m at 1ine 56, column 4

35 eziiriz
le=IIR FILTER DESIGN SCRIPT
fButternorth

hebyshev(Type 1)
hebyshev(Type 2)

jselect any one of the above Response

[Enter the name of the File for coeff storage

format of the TIR filter cosfficients:
21

lTnput_Scaling value:

013288

Number of Biquads:

3

[Please enter signal Tength N =1000
ctave:ds

ElTiptic
[Select Any one of the above IIR Filter Type 1
lLow pass 1
IHigh Pass H
lBand Pass 3
lBand Stop a

1

[Enter the sampling frequency 40000
[Enter the Pass band Ripples in dB(RP) -1
[Enter the stop band Rippled in dB(RS) i
fEnter the pass band corner frequency(FP) 5000
fEnter the stop band corner frequency(FS) 8000

t mestio0.dat





This Octave session shows 2 runs of the exiir32 script. The first uses the inputs:

1,1,40e3,3,60,5e3,8e3,vishal.dat.  This run fails with an error.  It produces a clean output in Matlab, with plots and a set of coefficients.

The second run uses the inputs: 1,1,40000,.1,10,5000,8000, mtest100.dat.  This run passes with the results starting on the next page.  Please note that the filter gain is very high and the coefficients and representation are much different from the Matlab version in the next section.
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File Contents of mtest100.dat.  As Created, with parameter line added after creation:

#define IIR32_COEFF {\




-196579,1178847,304801,609603,304801,\




-513562,1341758,266889,533779,266889,\




-1335116,1763990,853253526,1706507052,853253526}

#define IIR32_ISF
278672

#define IIR32_NBIQ
3

#define IIR32_QFMAT
21

 // generated using eziir32  1,1,40000,.1,10,5000,8000, mtest100.dat

Matlab run using the sam coefficients as previous example:
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Vishal_Coelho posted RE: IIR and FIR Filter Design for Concerto in C2000 32-bit Microcontrollers Forum. 

Mike,

I put your numbers into MATLAB and got this:

>> eziir32
ezIIR FILTER DESIGN SCRIPT
Butterworth : 1
Chebyshev(Type 1) : 2
Chebyshev(Type 2) : 3
Elliptic : 4
Select Any one of the above IIR Filter Type : 1
Low pass : 1
High Pass : 2
Band Pass : 3
Band Stop : 4
Select Any one of the above Response : 1
Enter the Sampling frequency : 40000
Enter the Pass band Ripples in dB(RP) : .1
Enter the stop band Rippled in dB(RS) : 10
Enter the pass band corner frequency(FP) : 5000
Enter the stop band corner frequency(FS) : 8000
Enter the name of the file for coeff storage : mtest100.dat

Q format of the IIR filter coefficients:
29

Input Scaling value:
0.5774

Number of Biquads:
3

Please enter signal length N = 1024




The algorithm in matlab gives unity gain in the passband. Octave probably implements a different filter creation algorithm, even though the commands are the same in both. The coefficients are:

#define IIR32_COEFF {\
-41782802,268569577,21149647,42299294,21149647,\
-123351888,306428100,73498229,146996459,73498229,\
-336619966,405411855,894010870,1788021739,894010870}

#define IIR32_ISF 309968208
#define IIR32_NBIQ 3
#define IIR32_QFMAT 29

Please note the results are very different between the Octave run and the Matlab run using the same coefficients.

